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8. How many numbers are there in the set S 8. =T S =(200,201,202.....800} # fsait
={200, 201, 202 ..... 800} which are divisible W@MIE Wsa7ARYTR?

bySorby7?
a) 21 a)210
190 \)91/90
c) 199 c) 199

d) None of these d) §99 | 1§ 781
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9. How many numbers are there in the set S 9. WY& S =({200,201,202.....800) # fFa-i

={200, 201, 202 ..... 800} which are not e gamadsiRaft 7R R?
divisible by either 5or by 7? N =D eo
\,)61 a1 (Q 2 _) ‘H
b) 412 b) 412 =~ 60
c) 410 c) 410 oy L
d) None of these d) 79 | S 781
60/~ |3 o
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10. A number when divided by 5 leaves a 10. &t w@n &1 5 | vt 33 w© duwa

remainder of 4, when the twice of that ATIATE, TA T AN F A S5 A
number is divided by 5 the remainder will be : fwifera fRrar sirar 8 & Swws g
a) 1 a) 1 ﬁ
b) 2 v:))/z ",
C 3
> A LT (3
I
A
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21. The number of zeros at the end of the 21. AP 1%2%3X.crrererernnns .x1000 & 3a o
exXPression 1xX2x3X.....cccvurmuniesnns x1000 is : WQM'
a) 248 a) 248
s e
c) 240 c) 240

d) None of these d)ﬁﬂﬁﬁ‘ﬂﬁ
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32. How many zeroes are there at the end of 32 FEfdf@T rTaF I d e g 2
the following product? 1 x5 x 10 x 15 x 20 x 1 x5x 10 x 15 x 20 x 25 x 30 x 35 x 40 x 45 x

25 x30x35 x40 x45 x50 x 55 x 60 50 x 55 x60 g
=R

UPSCPT 2020 Y- %
\9/'0/ Jo—] 1 Gon] \/)1/0 g‘Sﬁll“tlﬁl\'[

b) 12 b) 12
o 14 b y o 14 R s B ]O
d) 15 30,—-1 B a8
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39. A digit n > 3 is divisible by 3 but not 39. U®% 3@ n > 3, 3 & Rursu 8 a7 6 A

divisible by 6. Which one of the following is fawuTsa 78t 81 Frafaf@a 7 @ o1 4 | Rursa

divisible by 4 ? UPSCPT2020 ®7? 4
K\ =
a) 2n | ] X)Zn
b) 3n 2,2 3n
c)2n+ 4 Xe)2n + 4

\}Yﬁ+1 \)f!ﬂ+1
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